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SM2 Unit 10 -- Similarity and Proportionality Review
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In the diagram to the right, JKIM ~ WXYZ.

1. List all pairs of congruent angles.

£.J S LW ZL=LY
LYK ZsX LM=LT

2. Write the ratios of the corresponding sides in a
statement of proportionality.
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3. What is the scale facfor of WXYZ to JKLM?
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Use the figure to the right to answer question 4.

4. Determine whether the polygons are similar. (Show
your work!) If they are, write a similarity statement
and find the scale factor of the larger polygon to the
smaller polygon.
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Find the value of x.
5. JKLM ~ PORS
Q
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Ix =03
X =1
6. AABC ~ AXYZ
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In the figure below, ABCD ~ WXYZ. Answer the following questions.

7. What 1s mZB? 8. What 15 mZW?

< B¥sX LW =ZA .
so £B=T, S0 mw=123

9. What is the scale factor of ABCD to WXYZ?

10. Find the value of »n. 11. Find the value of r. r
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Determine whether the triangles are similar (Show yvour work!). If they are similar, write a similarity
statement and state which postulate or theorem (AA, SAS, or 558) justifies your answer.
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Draw the overlapping triangles separately. Show that they are similar. State which postulate or theorem
you would use to prove they are similar (AA, SAS, or 555). Then write a similarity statement.

o¥ each triangle.
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Find the value of the variable.
17. R
16
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, X 7|2
X T 12 S l‘ox.-%z(‘z)
lox =3%4
X =24
8. 20
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|6y = 20(12)
by, =240
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21.

/‘ 2‘*0.
Y, ’ ~10
15 0

W -
[50=30

5=y

y s midsegment lengh X s mdsegment length

= 5 (22)
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Determine whether BE | CD. Show some work to justify your answer.

23, A 24, 2 £
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Firom <ection W02

. Graph and label the parallelogram witl
paralh-elogram by a factor Eilf 2 and a
coordinate of the new vertices?

P Y ond
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artices A(—4, -2), B(2.0), C(1. 5) and D(-5, 3), then dilate the
Label the new vertices A, B', C' and D'. What are the

MuLT1 P Rach coordinate by 2.
N 1 -4, Bwi,gn (2. ) e
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Sechon 102
XGraph and label the triangle with vertices A(-8, 4), B(-5, 10), and C(-2, —6), then dilate the triangle by a
factor of ¥2 and a center at (0, 0). Label the new vertices A', B’ and C'. What are the caordmale of the new

vertices? —_— MuLT pLy ;ncu coordinate by 4
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